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PART A: Vocabulary
Directions: Chouse the number of the answer (1), (2, (3), or (4) that best completes the sentence. Then mark
vour chaice on your answer sheet, ;
T T SLlEs e T

] -Evervbody who was present at the ceremony knew that his speech was a(n) ............... attempt fo

embarrass the government officials.

i 1) surplus 2) deliberate 3) evident 47 abundant

2 = She should not have taken any side in the conflict, because she is'a journalist and journalists are supposed 10
be politically ................

1) neutral 23 solitary 3} obnoxious 43 humane
3 - We persistently invited her to come inside, but for some ............... reason, he refused to come inside.
|’} unstable 2} fertile 3) peculiar 4} scarce
4 -Due to inflation and other harsh situations, the country's economy remains extremely ...............
1) principal 2} intentional 3) fragile 4) suitable
5 - Although she was given a very good offer, she felt somewhat ............... about accepting the given offer.
1} deliberate 2) reliable 3) current 1) hesitant
6 -The government has given the army the right to sell its ............... weapons.
1} surplus 2% desperate 3} horizontal 4} preferable
7 = The two countries struggled 10 ..o.vvev v the peace among the nations which have always been enemies.
1) fertilize 2) indicate 3) accompany 4} preserve
8 = The measures are intended to ........ooecie public confidence in the economy.
1) restore 2) determine 3} dispose 4} betray
0 _The thieves must have ............... tripgered the alarm and hidden inside the house.

2} abundantly

3) excessively

4) deliberately

by evidently
10— He has been accused of ............... his own couniry by giving secret information to the enemy.
1) interlering 2) agpravating 3y utilizing 43 betraying

s -

H .

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each blank, Then i

mark your choice on your answer sheet. .
- e : e = = e AL FES

A century ago the process of choosing a career ... {11)....... a much simpler matter than it is today. A boy

often followed in his father's footsteps. His sister Jeamed the household skills that .......(12)....... her to
become a wife and mother. Nowadays young people grow up in a much freer society where they
enjoy .....(13} ...... almost unlimited career opportunities. In recent years there ... (14)...... an enormous
increase in the kinds of vocations from which it is possible to choose. In addition, many of the barriers to career
opportunity that existed only a few decades ago, such as discrimination based on sex or religion ‘or ethnic

origing, ... | Eey et :

11 -
1) was
124
1) had prepared
13- |
1} to have
14 a
11 had been
£ I
1y will disappear

2% has been

2} may prepare
2) having

2) has been

2} have disappeared

3) had been

3) was prepared
3) having had
3} will be

3) are disappearing

4) was been

4) would prepare

47 to having

4y would have heen

4) disappear

i
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best choice (1), (2},
{3), or (4).Then mark the corvect choice on your answer sheet.
= LA e e L T e = ra——r

Passage 1

Researchers at the University of lllinois at Urbana-Campaign have developed a super-dense battery that
measures only a few millimetres, but can both store and releasc a lot of power, resolving a problem that has long
plagued consumers and electronics manufacturers.

Capacitors can release power very quickly but can't store much. Fuel cells and batteries can store power, but
release it slowly and take a long time to recharge. The micro-battery developed by the team led by William
King, Bliss professor of mechanical science and engineering, can store a lot of power, discharge it quickly and
can be rapidly recharged.

The possible uses of the new technology include near-instanthneous recharging of mobile phones, and
devices that are 30 times smaller than currently offered. The batteries could recharge 1,000 times faster than
ﬂxjsjing technologies, the researchers said there is even enough charge in their micro-batteries to jump-start a

dead car battery, and can then accept a full recharge moments later.

16 - Which is the best title for the passape?
1y New generation of batlerics 2} Reducing battery size
1) Batteries with short recharge time 4) Balieries with fast power

17 = What are the main problems of conventional batteries?
1} Large dimensions
3) Energy storage, release time & capacity problems

18 - Which of the below is correct about "capacitors & fuel cells” in the same order?

1) Release power quickly but can't store much. 2) Can stors power but release it slowly.
3) Release power slowly and release power very quickly. 4) Release power quickly & can store power.

2) Releasing too much energy in too short a time
4) Short recharge time & fast release

19 2 All of the below are benefits of the new batterics except:
1} Discharge 1000 times faster than existing technologies.
2} Recharge much faster than currently offered batteries.
1) Are dimensionally much smaller than current batteries.
4 They can store greater amounts of energy.

20 - How have the researchers compared the micro-battery to a car battery?
1) Micro-batteries can fully recharge like a car battery.
2) Micro-batteries can fully start a dead car battery.
3) Micro-batteries can fully start from a car battery.
4) Micro-batteries can accept a full recharge moments after the car battery is dead.

Passage 2

Instead of pushing buttons, pressing keys, or even swiping at a touchscreen, imagine gesturing as a way to
interact with your computer. HP is picturing that possibility with the addition of Leap Motion technology to
some of its forthcoming PCs. It's actually cheaper to embed the motion control system in computers than (o
equip them with touchscreens. Those Savings, plus Leap's more intuitive user interface, could usher in a new era
of PC popularity.

HP will be incorporating Leap Motion's motion control technology into some ol its upcoming products.

Select PCs from HP bundled with Leap Motion's technology will be available this summer, Devices with the
Leap Motion Controller technology embedded in them will come later.

"At HP, it's all about delivering incredible user experiences,” Briit said. "Leap Motion's groundbreaking 3D
motion control, combined with HP technology and amazing developer apps, will create incredible user
experiences." HP is the second major OEM to work with Leap. ASUS announced in Januvary that it will bundle
Leap Motion Controllers with its high-end notebooks and premium All-in-One PCs later this year,

"We're still working with ASUS," Michael Buckwald, CEO of Leap Motion, told TechMNewsWaorld, The
company is also working with "a number of' major OEMSs, but HP "is the first OEM (o announge plans to
embed Leap Motion's techmology into unique devices."
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21 . What advantage does HP plan to bring using leap motion technology?
1} Improved touch screens :
2) Giving commands to PC's by gesturing 4 i
3) Pushing buttons & pressing keys instead of using touch screens
4) Improving pushing buttons, pressing keys & swiping al touch screens

22 .. What do “Those savings" refer to?
]} Money saved through equipping PC’s with motion control system rather than touch screens.
2) Money saved through equipping computers with cheaper touch screens.
3) Money saved through embedding computers with cheaper motion control system.
4) Money saved through embedding computers with touch screens rather than motion control syslems.

33 _The author believes which features will bring more popularity to PC's?
¥T Lower prices 2} Motion detectich attraction for users
3) Touch sereens attraction for users 4} Both answers | & 2

24 _Which of the below are not among the devices announced in the passage that will be embedded with leap

mation technology?
1 PC's 2) Notebook 3) Cell phanes i 4y Computers

25 .. What is the best title for the passage?
1) Maotion detecting PC's
3} Motion detecting notcbooks

2) Advantages of motion detection
4) New technology of touch screens

Passage 3

Adoption of Windows 8 has been tentative so far, but chalking up its slow growth trajectory to wholesale
rejection ignores a number of other possible explanations. For one, many users really like Windows 7 and
‘Windows XP, so why change to something new and different? Also, Windows Blue should be arriving shortly,

so why not wait for the new and improved update? s .
Windows 7 is the most popular desktop operating system, with 44.73 percent market share, according to Net

Applications' March report. Windows 8 is not even a close second, old standby Windows XP is.

Though Microsoft released Windows 8 with great fanfare last October, it hasn't developed much traction so
far. In fact, it trails behind Vista - an OS not known for its legions of loyal fans.

Windows 8 has achieved a 3.17 percent share, behind Vista's 4.99 percent, according to Net Applications.
" Windows 8 is still growing, of course: That 3.17 percent share is up from 2.67 percent in February.

However, the pace at which it is growing has clearly slowed. Following its launch at the end of last vear,
Windows 8 was posting growth in the 50 percent range. Granted, in the first few months, blockbuster growth is
expected. Just a few months after its release, though, its growth rate has plunged to the high teens. _

It is hard to see how much of Windows §'s falling growth rate is tied Lo corporale USers vs. CORSUINET USCIS. If
there is a large drop-off among corporate users, thal may be more indicative of the slowdown in PC shipments
than lack of enthusiasm over Windows 8, she pointed out.

Also, "we are in the second quarter now, which is traditionally pretty slow,” noted Dilo. "Usually, most
companies make their upgrades in Q4 or Q1"

DiDio acknowledged. "Clearly this is not what Microsott had been hoping for when it launched Windows 8
last year."

The slower-than-hoped-for growth could well be due to res
% was unveiled: For some people, it is just too big a jump in
they have a compelling reason to do so.

Another issue (or perhaps in retrospect, mistake) is that there is a separate OS for tablets, Dilio said.

“People are definitely shifting to tablets, and 1 think a case can be made that Microsoft made 2 misstep
having two versions of Windows 8." J

istance that became apparent soon after Windows
functionality, and they won't miake the leap until

26 - The first sentence of the passage does not refer to:
1) Windows 8 has had a slow growth so far.
2) People have not been perceptive of Windows.
3) Morc than one factor has affected the Windows 8 market.
4) Even though Windows 8 has had a slow growth it may not be due to rejection in the wholesale market,
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27 - Which of the below is not one of the reasons users have not chosen Windows § as much as desired?
1) Introduction of a new Windows in the short firture
2) Popular alternatives that are currently in use
3) Popularity of Windows blue

4) Popularity of Windows XP & 7
28 . Which of the below is the best replacement for "chalking up" in the first sentence?
1) Attributing 2) Showing 3) Devoting 4) Continuing

20 . According to the passage which is the correct order of these four Windows in respect to their popularity?
1) Windows Vista, Windows 8, Windows XP, Windows 7 i
2) Windows Vista, Windows 8, Windows 7, Windows XP
3} Windows XP, Windows 7, Windows Vista, Windows 8
4) Windows 7, Windows XP, Windows "H'lsta Wmdn‘ws 8

30 - Which of the below is not one of the reascms of the fa]llng gruwth rate for Windows 87

1) The slowdown in PC shipment
2) Too much difference between Windows 8 and previous Windows systems

3} Adopting a different version of Windows 8 for tablets
4) Entering the second quarter
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